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I Continuation of discussion of mwx nk’a generating proper Pwv1p when following failed pwvrmp
a  R™:if he follows invalid "1p with nx3, it is valid (requires v)

i

using a forgiven debt as pw11p, conditional pwITp, PYVITH with <a”w

b mr " only concurs if it was <", since everyone knows that that is invalid and his ny7 is nr2a »oy1p
¢ dissent: HYRynW’ "1 — any myv »vi1p are inherently uprooted — even if she has a child

II  Revisiting the woman with 011 or mmn after pwvITp
a  If she went to a non who released the 97, the Pwypp are valid

i

Reason: nan uproot the 971 from its inception (retroactively)

b  If she went to a doctor who healed her from her ommn, pwr1p are still invalid

i

Reason: doctor heals her from her on in

¢ Dissent: k11 which states that even if she goes to a non who releases her, pv11p remain uprooted

i

ii

iii

Answer: that follows 21»5& 7 — a man doesn” want his wife to be disgraced by going to 7”2
1 Explanation: he never intended that solution when giving her pwyrp
Background: 1:1 P03 mwn:
1 j7m if a man divorces his wife due to (»7 0w or) 913, he may not remarry her
2 jmp 1 if it was a 911 known to the public, he may not remarry her
(a) reason: follows v. 2 —ywin’’s oath to the n'1yax could not be retracted due to “nTy” (10)
3 np 7. if it needs the investigation of a non, he may not remarry
(a) reason: a man doesn’t mind if his wife needs to go to 7”2 and is disgraced, therefore, there is the concern
that he will say that he didn’t know she could have gotten it released and wouldn’t have divorced her,
putting a shadow over the pwy
4 5K ’7. the case of needing non n’pn was only forbidden as a precaution against a 911 that doesn’t
(a) reason: he minds if his wife is disgraced, therefore if it was a 971 that wasn’t subject to n19n, he would
never claim that had he known he would have sent her to 71 etc.
dissent: X171 claims that the reason that 97 nInn uproots PP is that the referent is an important woman and the
husband prefers to have them nullified so that he could marry another member of the family
1 Challenge: end of that Xn»92 has inverse: if his condition is that he has no mn/n7m and goes to a doctor or
pon and is “cured”, pwyTp are valid...why not explain that that refers to an 2ywn TR and she would rather
the pwy1p be nullified
2 Answer: she would rather be married to anyman, rather than be alone, as per 9"’s dictum: ...21°n% 2v

III  Discussion re final clause of nwn — omn that disqualify n’1ns are reckoned for women
a  Rma: they added perspiration, a mole and halitosis to the list for women

i

ii

challenge: aren’t these also D113 'mn as per R:1,1:1 MM32 (which refers to nmm — smelly)

1 answerl: here, we include even perspiration that can be removed

2 answer2: bmn isn’t perspiration; Dyt can be temporarily removed while he does nTay, n/a to women
Challenge: if the mole is large or has a hair, it disqualifies n’1n3 as well; if small and hairless, shouldn’t invalidate
woman either

1 Answer: it is somewhere that is particularly unpleasant (visible or sometimes visible)

b Additional rulings:

i
ii

iii
iv

if she was bitten by a dog and the tissue scarred (badly), that is also a nn

a harsh voice is a ;n as per v. 3

if the space between her breasts is a nav, that is a nmn

if her breasts are larger than average by a nav, that is a o (story...)

1 tangential 77I8. v. 5 — equates those who are born in 0’917’ with those who yearn to see it
2 nonetheless: 1>"8n DN is equal to 2 921 'noN

3 note: if one 521 non makes 1'%y, he is as good as 2 of >R 'nIn, as case of 1RV "1 shows
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